>> ss=[200
3.78
0.79

200
3.3
0.77

50
3.32
0.86

200
3.23
0.78

200
2.73
0.81

200
2.59
0.82

]

ss =

          200         3.78         0.79

          200          3.3         0.77

           50         3.32         0.86

          200         3.23         0.78

          200         2.73         0.81

          200         2.59         0.82

>> sse=sum((ss(:,1)-1).*ss(:,3).^2)

sse =

       663.87

>> gr=sum(ss(:,1).*ss(:,2))/sum(ss(:,1))

gr =

       3.1352

>> sstr=sum(ss(:,1).*(ss(:,2)-gr).^2)

sstr =

       184.38

>> dfe=sum(ss(:,1)-1)

dfe =

        1044

>> dftr=5

dftr =

     5

>> mstr=sstr/dftr

mstr =

       36.875

>> mse=sse/dfe

mse =

      0.63589

>> f=mstr/mse

f =

        57.99

>> pv=1-fcdf(f,dftr,dfe)

pv =

     0

>> d=[1
57.6

1
44.8

1
52.9

1
57.1

1
67.1

1
71.1

2
76.6

2
77.2

2
96.5

2
76.8

2
56.5

3
38

3
34.8

3
14.8

3
45.6

3
58.1

3
44.5

3
14.4

3
47.4

3
57.2

];

>> ii=(d(:,1)==1);

>> ns(i)=sum(ii)

??? Subscript indices must either be real positive integers or logicals.

>> ns(1)=sum(ii)

ns =

     6

>> avgs(1)=mean(d(ii,2))

avgs =

       58.433

>> sds(1)=std(d(ii,2))

sds =

       9.5343

>> ng=max(d(:,1))

ng =

     3

>> for i=1:ng,

ii=(d(:,1)==i);ns(i)=sum(ii);avgs(i)=mean(d(ii,2));sds(i)=std(d(ii,2));end

>> ns

ns =

     6     5     9

>> avgs

avgs =

       58.433        76.72       39.422

>> sds

sds =

       9.5343       14.145       16.001

>> ss=[ns' avgs' sds']

ss =

            6       58.433       9.5343

            5        76.72       14.145

            9       39.422       16.001

>>
